NI
L

ot
w
I~
!
oy
e

I~
L

;OH
W
X
s

;OH

T

—

_Z_l
s
jang

TH
_X_H

o,
ol

w

—

_X_l
s

jang

il
I~
s

o
4



2. (P34 30t 4) (x4 20-5) F ANF AoIA 2 2] A Fot?

@D 10 ® 15 A 19 @ 21 B 25



]./R]

7t EHES

3) 3

Sh= A% g o]

@ 4

&

3 5









oA 22~ 10x+k = 09] 2] H7b2 ; 30] HE=E
o] gk gsteler.

s
=¥



2 4 kx—k O] A ILI} xET} THIER S} A%k
.

® -1 3 0 @ 5 ® 3



Ot

[
oy

—

el

@ x=-2

O x=24¢ o, HHAg24
® x=4< ], HHZF24

@ x=2<L o, kP24

o_L

X



9.  f(x)=x3-324+3x+1L W, f(x)-2 = x(x*-1)+a(x—x?)+b(x*-1)
7 G YR Sk A4 0, bol thhed a + b 22

D1 @ 2 ® 3 @ 4 ® 5



10. f(x) =x*—ax® +bx-27} (x—1)(x+2) 2 Hiro] Bo|R =& Af4
a+ b2l = FSHA L.

s
=¥



11. f(x)=2x3-3x2+x—k 7t x- 25 A5=E 7H4 W], k& F5tofet.

>R
=%



SA 3+ 2x+1=a(x-1)?

o, = b O] gh2?

@ 8 B 6

® 2

@D 3



13.

l~>

TZQ’}—I—’] A=

Z

@ 2+i

B 2-i

of thste] 54 (1 - 2i)z—iz =3 - 5i

® 242



14.

OJFFFAA ¥ + (a+1)x+a-5=09F

a+p+p>° w27

D -3 ® -1 A 0



15. the Ao A2 38 Tatole

=383 4+3x24+x-6=0




o5 & 147k shel ZolH F
16. "=

1
x2—2x+2)(x? -2x+ 1)

2_2x+2)(x=1)(x+1)

D (

@ ( 1
® (¥®*-1)(x*-2x-1)
@ (F2+1)(x-1)(x+1)
® (

(2 —2x+1)



17. o5 0~@F doadls ot Ayt 9 A2 2% 2 AR

@ x*a-b)=y*(b-a) = (a=b)(x+y)(x~-V)
© 9x% + 3xy -2y = (3x—2y)(3x +y)

© x3-125= (x—5)(x2 - 5x + 25)

@ 2% —xy-y? —dx+y+2=02x-y+2)(x-y+1)

@D oM @ 170 3 270 @ 370 3 470



+3-3524+3-35+ 1 9 9Fo] of2] 4=
A1g o] gsto] FAQ)

2

Fstel



19.

2 4ax—92} 2 +bx+c 2 T2 2x2—4x-6, F]
olth. a—b+ 9 F& ot (T, a, b,

e =
-

A
¢

Il
[¢)
L

1

v 4= x3—x2—9x49

A~
%

olt}.)



3.
25

— — 1

4
25

®

o oot 100
+H +
<t | 0Ot | 00

e ©

- &
<100 |



O AA ax? + bx+c =04 a<0,b>0, c<0,b?-4ac>0

21.

o|il Mz th=r},

U
ol

aff
b

[e)

o|al A2 tt2r},

olp

b
ol

b+

—Lo] AjzrHc} I},

o
=]

717k,

=

=2

Pt

°

sht, &2

5

® ¥



22,

o] ]'O]'—ry——2x2—|—4ax—a2—6a+69»] ]

m 9] #%&gk& F-5tof=t

s
=¥

%}:%m 013}31 =






5

7] 9]

3B 3

D 1



25.

A x, y 7PN 2 +2x9 + 22 +y-6=0=
Hogre Fofolal,

Ct
=B



